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3. TS 29914 DABCD &£ BPAFAF It gABCD = 28cm? &
APBC 9] Yo & sfolzt.

A P D

>
> ®HE: 14 cm?

™04 et Zo] A P oA AB o Bt E PQ & I12H,

APBC = %DABCD o]B& APBC = % x 28 = 14(cm?)
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5. DABCD 9|4 AD//BC ©|22 AB=AD ¥ A D

o), x ©] 271
- 75)

@D 65° @ 68° ® 70° z e

@ 75° @80"

(DBA = /ADB = (180° - 130°) = 2 = 25°
x=180°—(25°+75°) = 80°
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7.

o2 287 2 HPAHAF ABCD 2 Hol7F 50cm? ©] 1L, AE :
ED =3:29 u, AABE 9] Yo|=?

A E__p
B C
@ 10cm? @ 12cm? ®)15cm?
@ 20cm? ® 25cm?

~&B ~

AABE + AEBD = %DABCD

o _ 1 3 _ 2
. AABE = 2|:|ABCD>< 312 15(cm?)




8. ThS oA AABC O ADEF O} x +y =2

@ 14cm @ 16cm ® 18.5cm

AC:DF=AB:DE°|E& x:9=15:10=3:2, 2x =27
x=13.5

BC:EF =AB:DEC|E2 12:y=3:2

3y=24

y=2_8

L x+y=135+8=215




th2 1204 AC//DE, BC : CE = 2 : 1°]1, AABC = 24cm? ¥
o, ABCD 9] Yo]=?

@ 30cm? @)36cm? ® 40cm?

@ 48cm?2 ® 50cm?

AABC = 24cm?°]1. BC : CE = 2 : 1°9]E 2 AACE = 24 X
1

5 = 12(cm2)

AACD = AACE (- AC//DE, AC = 3%)

. OABCD = AABC + AACD = AABC + AACE
=24 + 12 = 36(cm?)




10. 3 I9HoA oABCD cooEFGH o]ttt oABCD ¢ oEFGH 9] &
#le] ool i

BC:FG=15:9=5:30|22 Ed|¢] Zo]g] H|x 5: 30|T}, ]




